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Note .— The question paper is divided into two Sections (Very Short Answer Type Questions)
A and B. Section ‘A’ contains 8 Very Short Answer |US—37
Type Questions. Examinees have to attempt any (3tfa &g ST u9)

Jour questions. Each question is of 1% marks and 1. (i) Write the principle of Transmissibility of

maximum word limit may be 30 words. Section Forces

I bt HeRoRied 1 g fafew)
(i1)) Define the all types of Friction.
delimit each answer in maximum 200 words. Use RERICIREL T AR 3

of non-programmable scientific calculator is (iii) Define the Virtual Work.

allowed in this paper. Hicad & sl aRfbE Hifr |

‘B’ contains 8 Short Answer Type Questions.

Examinees will have to answer any four questions.

Each question is of 10 marks. Examinees have to
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(iv) Write the formula of Radial and Transverse 3. Establish the relation between friction coefficient

Velocity. and friction angle.
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(v) Write the Energy Conservation Law. 4. A heavy elastic circular string of natural length

S wa fag w fafen 2ma, is placed round a smooth circular cone whose
(vi) Define the Central Orbit. axis is vertical and whose semi-vertical angle is o.

Hhs Hel I IR Hifeg | If W be the weight and A the modulus of elasticity
(vii) Write the Kepler’s law. of the string, prove that it will be in equilibrium

FoRr g @ fofen | in the form of a circle whose radius is
(viii) Define the product of inertia. a(l+%cot oc] .
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(Short Answer Type Questions)
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2. Derive the Polygon law of forces.
o1 Sgys 9 Wt o it |
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5. The extremities of a heavy string of length 2/ and

weight 2/w are attached to two small rings which
can slide on a fixed horizontal wire. Each of these
rings is acted on by a horizontal force equal to /w,
show that the distance apart of the rings is
27 log(14++/2) .

20 S T 20w IR Al SN & BRI W A B Rt
o & S ww fer 8faw R R fRwed €13 T
fRfE W v & SR 1 &fast s o gew §1 fag
Fifw fF 31 frfel & wer @ 27 log(1442) 21

. The radial and transverse velocities of a particle
are A and p62. Show that the equation to the path

of the particle is %: (Lj +C and its radial and

272
transverse components of acceleration are :

2273 2 (6% /7)

and 202 + 202 (03 / 7)
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. A particle of mass m is falling under gravity

through a medium whose resistance is p times the
velocity. If the particle is released from rest, show
that the distance fallen through in time ¢ is :
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8. A particle is projected along the inside of a smooth
vertical circle of radius a from the lowest point.
Show that the velocity of projection required in
order that after leaving the circle, the particle may

pass through the centre is :
(2] (1)
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9. Find the force towards the pole under which the

curve »* = g cos n 0 can be described.
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